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HEEE PR E 16508 2 B Rl 3 B R 6 B R 1265 | 248
66.0
1/2 = 33.0 245 200 135 8.7 5.4
/ v} : 0760 100
1/3  |r = 5.4 38.3 284 23.2 15.7 10.1 6.4
3 - . R . . . .
t “' 4+ 0.97
1/5 |r = 8.9 443 329 26.8 18.2 11.8 74
5 - . . . . . .
t *7 1 0.94
1/10 |r = 28.2 52.2 386 315 213 13.8 8.8
10 - . . . . . .
t 0.735 + 088
113.6
1/20 |t = — 59.8 442 36.1 24.4 15.9 10.0
I +0.90
1/30 |30 = 0,739122'3 64.0 474 38.7 26.2 17.0 10.7
I +0.91
134.5
1/50  |rso =T, 008 69.3 515 420 285 18.5 11.7
146.0
1/80 |rzo =T, 000 74.1 55.1 450 305 19.8 12.5
1/100 |ri0 = 0,74715 06 76.8 57.1 46.6 316 205 12.9
I +0.96
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1/150 |riso = —g=s 81.0 60.3 492 33.4 216 13.6
I +0.99
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1/200 |00 = —gs 83.9 62.5 51.0 34.6 224 14.1
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